Ответы к тригонометрии (двойной угол) :

	Вариант 1
	Вариант 2
	Вариант 3
	Вариант 4

	1) 22,08

2) 6

3) -24

4) 4

5) 2

6) [image: image2.png]tga




7) -1


	1) -3,5

2) 18

3) -22

4) -0,24

5) 1

6) 2 sin t

7) [image: image5.png]tg2a





	1) 6,44

2) 16

3) -28

4) 3,2

5) -0,25

6) [image: image7.png]sin2a




7) 1


	1) 8,84

2) 9

3) -25

4) 3

5) -1,25

6) 0,5

7) [image: image10.png]sin2a







Ответы к задачам на многогранники:

1)  130         2) 90                3) 7,5                  4) 8               5) 58            6) 2              7) 11             8) 10,648               

 9)  34              10) 152         11) 0,84             12) 45           13)  60                 14)  4              15)  52          

 16)  144             17) 80             

